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Time: 120 Minutes

(For Students of Class X)
Max. Marks: 106

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before youn
open the test-booklet.

10.
1.

Answers are to be given on a separate OMR sheet.

Please follow ‘the instructions given on the
OMR sheet for marking the answers.

Write your eight-digit roll number as allotted to
you in the admission card very clearly on the
test-booklet and darken the appropriate circles
on the OMR sheet as per instructions given.

Write down and darken test-booklet number in
the appropriate circles on the OMR sheet as per
instructions given.

There are 100 questions in this test. All are
compulsory.

Since the time allotted for this question paper is
very limited you should make the best use of it by
not spending too much time on any one question.

R(m%h work can be done amywhere in the
test-boolklet but not on the OMR sheet.

Each correct answer will be awarded one mark.

THERE WILL BE NO NEGATIVE
MARKING.

Please return only the OMR sheet to the
invigilator after the test. .

English version of the question paper will be
considered as final in case of any dispute arising
out of variation in translated version.

Pk?ase turn over the page and start answering
immediately after you are asked to do so.
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If, 1.

O-+0=10
O+0+01=10
OxO-AxQ=5

then the value of A will be

15
2,25
3.5

4,15

2. How many parallelograms are there in the given 2.

0+0=10
O+0+0=10
Ox-AxQ=5

1S
2. 25
3.5

4. 75

BN DPoss® Mo NAFIFODE  SBSTreD
A ?

figure?
1. 14
2. 15
3. 16
4. 17

3. A ncwspaper has 6 sheets consisting of 24 pages 3.

in total, If page number 17 of that newpaper is
- missing then find the set of missing pages in that

newspaper, from the alternatives given below:

L. 6,716, 17
2. T,8,17,18
3. 8,9,17,18
4. 9,10, 16, 17
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1. 6,7,16,17
2. 7,8,17,18
3. 8917,18
4.9,10,16,17



The given figure in the question has five squares
and four equilateral triangles. Two squares and
two triangles are shaded. The figure is folded
along the dividing lines, the squares by 90° and
triangles by 45° so as to form a closed three
dimensional object. The object is then placed
with its apex pointing towards your left. Which
one among the figures given in the alternatives

can be seen?

4. 3N DS’ D @%&6“ D0 SO0,

e Rean@aoEEed &%) 0. Botky
Séosdren,  Body  GeEbwen WU
Bodegron. DR Do BB
Socicitto 20RO, GauoFren 90° Jeleren
4580 BoIrGDTEION. @Iy ¥
BRI 50080 DD
RTEROO 000, BN pergaryorg’ O

Do qer EADROL?

Complete the following series:

6,24, 60, 7,210

1. 96

2. 120
3. 140
4, 160

5. HOoRGITEAY SarBociods:
6,24, 60, 2,210

f. 9%

2. 120
3. 140
4. 160

By .studying the figure and number
relationship, find the missing number ¢?”:

6. Dgrdy, %ogrg Voworrudd HOTYD &'odH
7 Koggdo 80 dod.

26 9 32 6 41 2 33 4
3 4 7 ?
15 7 18 8 9 19, 8 15
l. 5
s o
3.9 3.9
4. 12 4. 12

The opposite faces of Dice X are:
[(5,2), (6,3), (4,1}]

The opposite faces of Dice Y are:
[3,5), (4, 1), (6,2)]

Which figure can represent both Dice X and
Dice Y with faces shown below? :

N
39

(98]
w

A B

EGETCI N gy,
T 0w

T.X @b >SS ddotednd  (Doseen)

ghoaren: [(5,2), (6,3), (4,1)]
Y oo DES® Detotheciond soaren:

[G,5), (4, 1), (6, 2)]
Dgrod® O Dgo X, Y @D Botd FIgwre

QAAR0R?
o i
5 3 ; 6
C D
A
2. B
3. C
4. D
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R S § T U
+ N R 8§

RTS8

3 7 8 4 9

then, find the code for T U R N S from the
given alternatives provided there is no carrying
over in the given addition using letter codes.

. 13625
2. 65231
3. 16352
4. 53126

9, A comparison of ages of A, B, C, D and E are as
follows.
[ B’sageis half the age of A.
I B’sage is 1Y times the age of C.
Il D’sageis 12 years less than C. '
IV. D’s age is 1% times the age of E.

V. Theage of E is 12 years.

With the given data what will be the difference
in the ages of A and C?

64
2. 60
3. 40
4. 36
10. 1f CLOUD = 11, BURST = 16 and
ACE =3, then MONSOON = ?
L3
215
317
4. 19
4

13-22-MAT-ENG-TEL

9.

16.

R S S T U
N R S T
+ B R_T §
3.7 .8 49
wond,  ROEED Qo aire. o

T U RN S & D005 doddg D8 Dy

ST S0 ((a&()cé WEG  Doderw  &ood)
200605 Fhocdio Dewseesy).

13625

2, 65231

3. 16352

4. 53126

A, B, C, D odatn E v sosrnwis 0%

1. B ooy A :)Q&)Foaaes" Pfo

I B 0oy C sosrysoss 1/ 84 0.

. D oabioy € ooy o 12
ma@bme» eééozjaﬁ.

IV. D oosotoy E doiroy Sofd 1% Bgn
Dé)b:).

V. B Hodoioy 12 Roddyoren.

raz‘i)‘)x) ROFEFTY zxg) A, Co DODANO
.:»6,65 dyerEgRo 2oes?

. 64
2. 60
3,40
4. 36
CLOUD = 11, BURST = 16 6ok

ACE =3, 000208 MONSOON = dog?

.13,
2. 15
3. 17
4, 19

11.- Three dice arc rotled simultaneously and the
numbers shown on all the three dice are added,
then the total number of possible ways to have a

sum of 7 is
.12
2. 13
3. 15
4, 16

12. A comparison of marks scored by Gauri, Aaban,
Seerat and Alvina in an examination is as
follows.

1. Gaurihas scored 15 marks less than Aaban,

II. Gauri has scored 20 marks more than
Seerat.

Y Alvina has scored 10 marks less than
Seerat.

To decide who has scored the highest marks,

identify the statement from those given in the
alternatives in respect of sufficiency of data.

1. Data given in | and I are sufficient.

b

Data given in { and Il are sufficient.

Data given in Il and I are sufficient.

~ oW

Data given in 1, Il and I are sufficient.

13, The number in the place of *?” should be

4 7

7 \}r 6 9 + 8
3 33

5 ’f 3 4 W( 4

) 5

.30

2. 32

3. 34

4,

36
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1. 12
2. 13
3. 15
4. 16

12. 28 DBLS” 70, wed, VOIS, WD Todd

AR TFOErY:

Loooed © 300 drdape gl 668 15
:mcfoz}w éé)zyé abm“‘)cm.

L 268 goff TO8 20 Src)en e
le)cm. R

T dred DEd goth 10 drdnen dEd
:Jm*bcm.

| 0oes0gel YD AW I T

K)goaaozf)ocsaéo f&&ac\’) QDT

WRVR0CD, ASWAD PERGOT A0 D6

2OEHHE HYocsod.

1.1, 1 &5 ddrerdo HOS 000,

2. 1 H oS harardo D006,

3. L oS hararde 20T d00d.

4. 1, I HIEER

EoblalevV] AT

wOT B0,

13. 42 F00¢5® octdoRD oy .

6 7
¢ 5 6 + 10
35 ?
4 \{ 3 5 -3
2 4

.30
2. 32
3. 34
4. 36



14, Find out which of the following figures can be 14, X o3 Oehoss® NS Dotrwod Sobd 16. If MOBILE is coded as DFBICE, then 16. MOBILE %o DFBICEr &% CHARGE
formed from the pieces given in the figure <X’ 2 * CHARGE is coded as: -

QT o’ 3D s Sodosy? Roddgorr Jer BOHIE.
1. CHBXQE 1. CHBXQE
2. CLARTE 2. CLARTE
3. CHAIGE 3. CHAIGE
4, CHIAEF 4. CHIAEF

; 17.  Study the following information. 17. 806 AT $0980t30d.
I 'A$B' means A is brother of B, ASB’ 0085 A, B & 1sfescoes.
_ . : 'A@B' means A is wife of B, 'A@B @03 AB 8 &rdg,
X

'A#B' means A is daughter of B a
A#B' means A is daughter of B and AHB 065 A B 8 €878 o005
'A £B' means A is father of B ‘

Based on the above information, which of the 'A £B' 205 A BS dog,

following alternative represents the correct . .
group of symbols that indicates the relationship B RArEroR) 0foRoed K ardorrd H e
i T i for K is father-in-law of H’? ®020GeRY) Drrdodottas 1A
: D) oS’ D6 ROEDE?
A B C D
1. H@JSLAPLK 1. H@ISLHPLK
1. A . A 2. H@IS$PLLHK 2. H@JSPLL#K
2. B 2. B 3. H@ISLA#KEP 3. H@JSL#KEP
3. C 3. C 4. H@PRILLHK 4. H@PSJLLAK
4. D 4. D : Directions: (Questions 18- 26) Roecdden: (18- 20 Py en)
The following figures represent students who Z06 Do wCtidR, é«\ééo &% DEmoRR

can play, sing and dance.

15.  Find the missing number “?* in the figure 15, 3o LI Does® S°BodD Romy 7 &

given below:
X 808 08k
3 4 5 6
7 22 3 8 30 5 9 30 6 i k 10 ? 7
5 ., . ; 18, Which part of the figure represents students who 18, escis®% Hytg0 BADADAD 0D Do’
2 can sing and dance? '
2yetio tﬁ?ﬁ)?_\})o&?
LT LF
130 130 ) c 2 ¢
3: o ? ;% : 3. FandC 3. Faodasw C }
4 35 133 : 4 EandG ' 4. B aooamn G |
o 6 . k 7
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19: The number of students who can play is more by

20.

2’ than the number of students who can dance;
and the number of students who can do both
playing and singing is more by o' than the
number of students who can do both singing and
dancing. Then what is the difference of the
number of students who can only dance and
who can only play?

a+b

(2a—1b) or (b~ 2a)
(a~2b) or (2b - )
(a—b)or(d-a)

B o —

It is given that the total number of students in alf
the three disciplines is same. Also, sum of the
number of students who can only dance, and
twice of the number of students who can do both
singing and dancing, equals the sum of the
students who can do both singing and playing,
and the students who can do both dancing and
playing. Then which among the alternatives is a
correct statement about the number of students
who can only play and those who can only sing?

1. The number of students who can only sing
is twice as many as the number of students
who can only play.

2. The number of students who can only sing
is equal to the sum of the mumber of
students who can sing and dance and the
number of students who can only play and
sing,

3. The number of students who can only play
and sing equals the number of students
who can only dance and play.

4. The number of students who can only
dance equals to the pumber of students
who can only sing,

13-22-MAT-ENG-TEL

19, Qo SosdADd Joeghe oy Sod

20.

e3¢ 50A Dergher Domy ‘a’ wois ),
€882, Sockr SaHrdaDs Dergdoer ogy ek,
Syego SoridAD QE§er Roaxgsotd b’ esos
DD wad  Edeo Qo SoDrRTE
Qogsd Bdewo esddiors RoEd o &cso
ogh?

a+b
(2a-b) S (b - 20

(a—2b) e (2b - )
(a—b) S (b—g)

B =

mm' Sorrosyr  Bobdd Z)csulggge) Qogg
RO, woders dodeo o Sobrors
Roy, Edeo Dyeifo otk BoSDADTS
ol Romy THodaw, D, ety Todr
BORIOAD i)mvzgg)o PoPgEs o ety Tockr

So01DALe Roggeh D0, wowd Fdeo

edri®0S Do Dows Ssvo cons
RO BB DEB 8o
QTjm) 01 VEELIOILHG D62

Z)nggm

1. 8%00 Deccesdas &)nggw Doz Bdwo
e3¢ IOAD Dovég.)e) X)os'% Eots 6%)3059_).

2. Bdowo JEedAD dergder Dogy edn,
Q0 BoHABADRE Roage  dgrdE,
ctdn A Qepdow Jwgrdd gree
RdTedo.

3. eci® Joeirs®RF Dargde bogy Edeo
dge BN esctsdAD o6 R0y
R0,

4. 8dwo Qo drgo SodbridAD @Wé&)é)
Doy Bdewo DA Derggoe (SEENES
ESERSLNTN

21.

22.

23.

24,

Complete the following series
1,-8,81, 2, 15625

I —1022

2. 1024

3. ~4094

4. —40%

Yaibiren is standing 4 metres East of Rajib, who
is 1 metre North of Achira. If Sahibah is
standing 3 metres South of Achira, then in
which direction of Yaibiren is Sahibah?

North-East
North-West
South-East
South-West

B =

Which of the following diagram indicates the
best relationship among men, fathers and
teachers?

(@ @p

hadi St
T QW >

4.

Ishan wishes Irfan ‘Good Morning” when the
hour hand of a (measured clockwise) clock is
positioned between 9 and 10. The angle-between
the two hands is 145°, The time shown by the
clock is

l. 9.08 AM
2. 910 AM
3. 912 AM
4. 915 AM

9
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21.

22.

23.

24,

808 HWLREHPY LFBocsod
1,8, 81,7, 15625

I -1022
2. 1024

3. 4094

4. 4096

B 6 28 DOHH &ds BFS DAY
TED & BRENOL) BoDES
DBACTY . 0D B Bgo PR B
DY @60 e Gold LDES B
O 63" gotrn?

1. éa?%zgo

2. momblgo

3. eﬁﬁ(}vcd)o

4. b .

RS doghexsor edrariatbon &% o
OBOBIZVR Roedy  Ardodd  Ogo
SodT IS D7

P~

AROSTG0eS” rioter Aog 9, 10w 63565
ESEONARIET ) QNS O BB dowo’
(Good Morning) Seecs. Boco Y c‘.‘x)c_SzgeS"S
o Euo 145%0. wond Adairto wrdod
Rs300%00

1. - 9:08 escsadoo
9.10 &scsasoo
9.12 oo
9.15 écsado

B




25. If *15 + 10 means 5°; ‘6 x 3 means 9"; 25.°15 + 10 o3 5, '6 x 3 wold 9, ‘8 + 4 k 29, If the ninth day of a month is four day 29. ¢ DeeS*d SX)J%’I(;;’) Fer (0rdo Eots
‘8 + 4 means 32; and ‘12 -~ 2 means 6’ : " il i
’ > > 12— ’ arlier than Thursday then what day will it 5
then what will be the wvalue of o) 327 00U “12 -2 90 67 ewond . earlier 'y renth Beven Swocrr 9% @ dudd
27+81-9x67 27+ 81 =9 % 6 Dend Joeh? be on the twenty third day of the month? AEDRIFES B O Bay 053067
1. 36
;i gg 2. 24 , 1. Monday 1. oo
i n : f ~162 2. Wednesday 2. eesrdo
O 3. Friday 3. Bogardo
26. Which number will replace the *? in the 26. $o6 HWD E00S° P &  sxcoenme 4. Sunday e
X . o . . Su
following sequence? ot oo “a 4. edIGo
o .
3,7.14,24, 42,7, 119 5,7,14,24,42,?,119 ' 38. Which number replaces that question mark 30. FAND QoS ‘P B IC0LNTT ot
' “? in the given figure? ‘
1. 71 1. 71 ?'00&35;)@?
2. 67 2,67
3065 3. 65
4 63 4. 63
27. What will be the missing term 2’ in the 27 806 €065 '?? & BobD Do (08) D62 , 8 20
given series? :
AK, FP,?,PZ, UE, 2] AK;FP,?,PZ, UE, Z] ’ 14 2
1. KU 1. KU '
2. 1T 2..JT
3. JU ) 3. JU 6 12
4. KV 4 KV ' ; ) 0
28. In a family of four members there is father, 28, a8 €000005° ol &9, LD D ’
mothcr., son and d'aughtcr. then‘ sorted G%D‘Q‘CX). o6 mbw e E005°
according to decreasing order of their ages, " o D
the order is father, mother, son and SR €8 830 Sog BY LRI, G
daughter. The difference between the age of ] 08006, éo@ég)no &5053{0)3&) :)oc,sgﬂe ¢so
father and mother is S‘years. The difference 5 oSy, Qo0 Duado HOERVN é /;‘6 é ?6
between- total age of male members and . 5 : : :
female members is 15 years. Also, the total WED Dago éo.i)«mbe) ::x;ﬁgﬁv oo 15 3. 18 3. 18
age of children is 20 years, then the age of Roddren. Do 2do D030y 20 ' 4. 22 4. 22
thesonis . R0y 0000 SR oKy : ‘
IR 31, Find the missing value *?” in the following 31. &c& BE0G0eS  STHoDO  Dendad
series:
S0 00
: 13,34,74, 2,290
1. 10 years . 10 moé@b@’m ‘ 13,34,74, 2,290
2. 15 years 2. 15 Rodedyoren 1168 . 1168
320 vears R . 2170 2. 170
. 20 years 3,20 LIV Ny 3 1m 117
4, 25 years 4, 2% DoY) 4,174 4. 174
10 . ’ 11
13-22-MAT-ENG-TEL 13-22-MAT-ENG-TEL
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32. What number comes in place of ?° in the 32. (g,g)‘);@ DBoS* 77 B LT BoHud

given figure?

R)oa)zg
slals]
lelal7l2
U IR
6131954
91613
I 9 19
2. 8 2.8
3.7, 3.7
4 6 4 6

33. The following figures represent information 33.
given against them.

Z Total number of students who
applied for Board Examination.
Total number of students who
actually  appeared at Board
Examination.

Total number of urban students
who  appeared  at  Board
Examination.

Total number of students who
qualified at Board Examination.

A
@)
]

Based on the above information which of the
following figures represents the above facts?

13-22-MAT-ENG-TEL

806 Qmren. BE AT Hod

RBEEroedy R0

[ 80 0680 oot 320
Z)mggoe) S0¢0 Qo3

A e5° d Do Hapo Degoe
8 PO

20080 maqg
Q ' DOSVD  WFagd DY
Qe Do K033
] es“g) 0 Do’ eddogs
Jurgon Hogo Qogog ‘
® :omwm; & 300 Qgrods® O Ago
- R0t 206 ?

34, Five -friends P, Q, R, S and T read a 34,
newspaper. The one who reads first gives it
to R. The one who reads last had taken it
from P. T was neither the first nor the last
one to read. There were two readers between

Q and P. Who reads the newspaper last?

4.

L2 DI e
Do

35. A clock shows 05:45. A plane mirror is kept 35.

on the right of the clock, with its plane
perpendicular to the face of the clock. What
time will be shown by the mirror image?

1. 06:45
2. 05:15
3. 06:15
4. 07:15

36. In a certain code language “Kolkata is 36.

cultural hub of India” is coded as
“a246303” and “Mumbai is financial hub
of India” is coded as “Y3472B”. Then in the
same language “India is hub of
‘democraecy” may be coded as

. ©2439
2. 243Y7
3. B3249
4. 32B47

13-22-MAT-ENG-TEL

P, QR S anbain T ed oeordsd Sugoen
28 TPEDGED DT, DOEIDOCED
WODD g A R D ew0d.
0C50806) WVHOS SEDD fowzgg >AQ P
M08 Srootrs. T b QYO eSS
DORIDCSEDTCL T8, DB 596, Q,
Po> 35065 B FELORD ETY 0. AR oy

SO ijsg Q7
. P
2.Q
3. R
S

28 Aéoirdo ?0553015"1):)_ 05:45 e

mg)ﬂ})o&. falateniuoiel:] S)&&)Szjv‘ﬁ
©028S° Gocidod. Sy 00w’

rdotead Bvoo Dos?

1. 0645

2. 05:15

3. 06:15

4. 07:15 ‘

w8 Fo8AE e “Kolkata is cultural

hub of India” & “o24638” v,
“Mumbai is financial hub of India”
“YI4T2B” ordh ©d s “India is

hub of democracy” D qer AL

. w2439
2. 243Y7
3. B3249
4. 32p47




37. Which letter is midwa?/ between 13™ letter 37.

38.

from the left and the 4" letter from the right
in the sequence given below?

USBEYFHKOPRAWCGIMQDIVLNTXZ

o C

P

=

Which of the following figure(s) can not be 38.
drawn without either lifting the pen or re-

tracing any line?

1. Only A
Both A and B
Only C
Both Cand D

Rl

14

13-22-MAT-ENG-TEL

806 850085 et M0 138 wESorrdr

A 2000 48 WESOTTPRD Gotd wECo VA7
USBEYFHKOPRAWCGIMQDIVLNTXZ

BN =
ZTO O

Sordy P8 DYoo D A
Ogotrdor  HoLTD Do - Sobartdes®
6?7

1A Sogfo
A, B Botr &re
C Srgdo

el

C &08aiw D gree

39, Find the missing values in place of the 39,
question marks in the given pattern.

go& Donarar Ogoed g8 Dty

RICRD GOCHIVDD BOTLPLRD 2D?

.
08
40. What will be the missing number in the 40.
given series?
1332, 732, 348, _
32
132

148
4. 216

41, TFind the missing term *?’ in the given figure. 41,

,36,12

B e

7
4. 18

80t D6 008 S0 Doy D&?

1332,732,348, __

1. 32
2. 132
3. 148
4. 216

BN DPos® P @’ esoredyd

,36,12

DO (00030,

]

Nig
Py
Oy
Qis

e S e
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L42. I,

43,

44.

a>b,

a>0,

and b # 0,

then which of the follow; ng statements is
always true?

I.ooaxb>(

2. axb<o

3. axbisundefined

4 axp>y

In certain coded language

‘way to win' is written as AdAaa aaaa'
AAAa,

‘Go to Wall is written as Aaaa aaaa
AAAA,

‘Get up early’ is written as AaAa AaaA
a3AA., '

Then, how can ‘Always go to morning
walk early’ be written in that coded

language?

aaAA Aaaa asaa aaaA AAaa aaAA
aaAA Aaaa aaaa aaaA AAAA aaAA
aaAA AaAa asaa agaA aaAA Aaaa
aaaA AaAa aaaa aaAA AAAA aaAA

B —

42,

43,

If + means X5+ means —; — means +; and 44,

Xmeans + then 2 + 12 x 4 — 6+ ¢ ig equal
0 '

b
AR
DN

13-22-MAT-ENG-TEL

a>b,
a>qQ,
b # 0, ood,

8ot BND dgareS’ D6 DONBS Desgo?
L oaxp>0

2. axbh<o

3. axbp QECocseacseFes

4,

axbp*>0

28 Dodeh gres’

‘way to win® ©ScrdD AAaa asas AAAa
9 oo 20008,

‘Go to Walk’ o952 Anaa aaaa AAAA
0 Tohcio 20A06,

‘Get up early’ S99 AaAa AaaA
agAA e oeadcio acﬁo&‘, ;
WY ‘Always g0 to morning
early’ e&derdd e Hode st der
U"Qi)éﬁtﬁ)()?

. aaAA Aaaa aaaa aaaA AAaa aaAA
2. aaAA Aaaa aaaa agaA AAAA aaAA
3. aaAA AaAa aaag agaA 2aAA Aaaa
4. asaA AaAa agan aaAA AAAA aaAA

+ o] X; + oo -~ 08 +; eand

X@oé3+,1hen2+'12><4—6+6é50é

walk’

45. In the given equation, which two numbers in 45,

46.

47,

the expression on the left hand side will be

interchanged to form a corréct equation?

544x8+12~3=3

I (3,5
2. (4,12)
3. (3,4)
4. (8,5)

Ifa, b, ¢, d, and e are positive numbers; and 46,

it is given that,
atb=c+d,
b+d=2a,

d+e> a-+band

ctd>a+e

: thén, which of the following statement is

true?

1. d>a>p>e>c¢
2, d>b>e>qg>c
3. a»b>c>d>e
4, a>d>p>e>¢

Kashvi facing towards rising sun turned to 47.

her left and WEIH(S for 60m. She then turned
to west and walked for 15m. Then she
tarned towards left at an angle of 45° and
reached 95m from her original position.

How much distance did she travel?

95m

115m
155m
175m

habeadi s e

17

1322 MAT-ENG-TEL

DN RGOS 08D :obosdw%

SO B stﬁo@@ &‘6& .
ROoPEORD TP 1301705@.

S5+4x8+12-3=3

3,5
2. (4,12)
3. (3,4
4 (8,5)

a, b, ¢, d e ep c,s:;veé&s {oognggé
SoBTD DR0OD

atb=c+d,

b+d=2a,

d+e> a+bodotny -

ctd>ag+e

S06 Sgarjd® HHRA?

d>a>b>e>¢
d>b>e>ua>¢
a>b>c>d>e
a>d>b>e>¢

&cso00dd {\wd)lgbé QAEOEOTT &) 5735

BN =

B EPDH BON 60 Do et
RDEIRV0E. PV @B LADDD BOH
15 D000 9806 & B0 D DRDES
45° o Ewoss® 86A @ 0ED0CE
Few00d 9585 Dot Sehevotnod. e
DOIrBoDD G0 Does?

1. 95m

2. 115m
3. 155m
4. 175m




48. A cube is coloured on all the six faces with 48. 28 D03 AL B dere DI DHHDH

six different colours - black, brown, green,

red, yellow and blue,

e Red face is opposite to the black face.
e Green face is between red and black
faces. -
s Blue face is adjacent to yellow face.
e Brown face is adjacent to blue face.
"o Red face is in the bottom.

Which of .the following are adjacent to

orben Dabegrom. Hewsy, Feosudord,
DD, IO, DRIy, oo,

° OBV DLDINSBEPIS DEDENT Sobd.
® aeé)&)éae?e)o QP -FHLY) @efé)
JDCéZS &0,

o Dudy eo, DRODDEy BerDE DHD

&od. )
o Henmdor, Doy B0m8 £ eod.

°  QUDBV0, o Be0eS &od.

50,

Given x is real and that

(A x=49, (B) x° =343,
examine the given alternatives in respect of
arriving at the Conclusion: x = 7 and find
which is valid

I. Only A is sufficient to answer the
question

[I. Only B is sufficient to amswer the
question

Il Either A or B alone is sufficient to
answer the question

{V. Both A and B together are sufficient to

50.

x VO SRS RoQISIT,

A) ¥ =49, (B)x’ =343 oo x = 7 &0

DGowoestdS BN gt ool

DG AB?

L 989 Drerrds Edvo A Srgo
20800k,

11 9% 9 Irerardd 8dwo B argdo
2O B0,

IIL 98y parErard8 Sdvo A D B

™D POV B0,

IV.A, B Bothr 036 ROrEroddiom
green? 853Dy SBerdS D)8 e D 22 answer the question > 2 o
2O A0,
L1 Lo
1. Black, yellow, brown, red 1. Sendy, DRVRYDIDY, Fevauort, > 1 2.1
2. Blue, black, red, yellow g 3. 11 3.1
3. Red, black, blue, yell ~ N v '
3. Red, black, blue, yellow . e e : . ‘
Y 2. e, HLKD, IR, QROTDREIy 51. Find the values of “x’ and ¢y’ from the figure 51, &op D) WRRBD % e Dedo

4. Yellow, blue, black, red y " . given below :

3. 0RY, $20RY, Do, DAY S0P S08.

4. DR, Do, dewy, I

49. A watch gains 10 seconds in 3 minutes. It 49, 28 3 ﬁ&mdo 3 DIy @53@55 10
was set right at 9 AM. In the evening of . D80G DY D AEDROE. 8 edoso I
the same day, when the watch indicates half Mot HORLEGS s o
past 6 *o clock, the true time is P 6 (OB HOGD a5 w
; 050 RV ROGHR R o

1. 5:30:00 P.M. 1. 5:30:00 dasogso
2. 54810 P.M. 2. 5:48:10 avogo 65150
3. 5:5820 PM L. 65,150 I 65, I

3. 5:58:20 robogo 2. 46,125 2. 46,125
4. 6:08:20 P.M. 3. 56,156 3. 56,156

4. 6:08:20 Jrabogio 4. 56,165 4. 56,165

8 “ . _ 19
v 13-22-MAT-ENG-~TEL
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© 52. In a certain code. ‘COUNTRY” is written as 52,

53.

‘ZSUOVPD’. How is ‘TEACHER® written
in the same code? :

1. SUTIFED
2. REHCAET
3. QDGBDS
4. SFIDBFU

What number should replace the
mark?

question 53,

w8 JoBdE e ‘COUNTRY’ 2
‘ZSUOVPDY v ooy ‘TEACHER’ 2 od

FoBAE ady der Tord?

1. SUTIFED
2. REHCAET
3. QDGBDS
4. SFIDBFU

S0l é)ggoef” o) g8 !‘D;Jsir‘oé 20T

€060V Ro§ IO?

? 12
15 | 13
/ 16 212 13 ,
3
11
® SN0,
19 213 17
16 | 12
15 12
©
1. 15 1. 15
2. 14 2. 14
3. 13 313
4. 10 4.

20

13-22~-MAT-ENG-TEL,

54.

=W

Directions: (Questions 54- 58)
A, B, C, D, E, F and G are seven teachers.

Fach one teaches only one and different
language from among Konkani, Hindi,
Malayalam, English, Manipuri, Tamil and
Kannada on different days of a week.
C teaches Malayalam on Friday. B teaches
Konkani on the next day of the day on which
the concerned teacher teaches English. F
teaches on Thursday but neither teaches
Hindi nor English. D teaches Tamil on> the
which

F teaches. A teaches Kannada on Tuesday.

previous day on day
G- teaches on the next day of the day on
which  the

Malayalam. E does not teach English.

concerned teacher teaches

Which subject does B teach?
1. Tamil
Hindi

2
3. Manipuri
4

Malayalam

- On which day B teaches?

1 - Monday
Friday
Wednesday
Sunday

21

13—~22~MAT—ENG~TEL

54.

55.

Qoredden (54-58 &8 ew)

A B CD,E P &vtain G Do
GILRIO0W DOHDE e 280
FOFD ~ Fosed, b, Howoirvo,
QOHED, BN, BILFo, SR e
TS DD Farees 5" aFch. Bogarco
C owosreo e5°Goure, o fomndies B
Sosed S'0Rrcd. o Howod B Soss
00T 0d San o TR Bodd
SEIEHOINED WA SO, oarto
FoSrod,  @fiy  son LR
B°OF. ¢ BwocBer F 0o Sws D
BTy SOPw.  Hor¥ards A
) oY, Modvarde A
Sy STOFed. @ Sowd S

S Ror RS Bodd SIEHOsIC

DVCEro 50 E wofity e Gossc.

ED DROITD) DPL e BFece?
I. auvo
2. rod
3. Joedpe
4. Qowatrso

B9 B eS°0rcn?

1. Qoo
2. Bogardo
3. angarso
4. eddo



56. Which language does F teach? 56, F 9 g 5 Oc0? , 60. Find the missing number 60. &S50 o850 Mgocsods
, ‘ 2,3,7, 2112 2,3,7, 2112
1. Manipuri 1. Q00
2. Kannada 2. SRy 1. 36 136
: ’ 2. 45 2,45
3. Tamil 3. S0 3 46 3. 46
4. English 4 goftn 4, 49 4. 49
57, Which language does G teach? §7. G 9 e 5 Oe?
{. Hindi 1. rob 61. In a code BH = 16, DO = 60 and TA =20, 61. a8 d0o&d¢ ernees® BH = 16, DO = 60
. then the code for BAT = 7
2. English 2. wofin ; 206030 TA = 20, 00005y BAT = ?
3. Kannada 3. sdye ) .
4. Konkani 1. 20 1. 20
4. Sosged 5 30 2 30
58. On which day D teaches? 58, DO B S odra? 3. 40 3. 40
’ = 4, 60 4. 60
1. Saturday ' 1. #9ardo
2. Tuesday 2. doorvardo
3, Wednesday 3 S . . 62. The figure given below is prepared by some 62. & Qgo DYIVHOD GHETHOD  ws
4 Thursd 0 BGTCo i sticks and provides an equation that is s PSS arDhoos. A
rurscay 4, DHardo incorrect. How many minimum numbers of é“DQ RDECET)  RFIO0.
sticks must be removed from the left hand LOBDOMLD JELODL) 308 BRDCHVVVD

59. One morning at- 8 AM. Navineet and 59, o« g"%)p &csadio 8 rotrnsy 330G, 3IDE

Ravneet were standing on a lawn with their . " bg}bé 230590065 2058 3900 20860 100
back towards each other at the distance of

side to make it a correct equation? e 8,00 20Y?

oo o, DEAWPO,  DeEVPOT

100 m. Navneet’s shadow fell exactly Deesorry . 5558 BeE 0o B85 s !””““l l“""’“ "‘""‘ I""‘”‘ ]ml l‘“"‘“' l I"‘“"I l""‘”l
towards his left hand side. After 15 minutes, wrnad Y .__.l._._ JRUU B N --4!—- DN B S

i . _ B8P HAoB. 15 AL ST I : i l ‘ i l l ' l | i I l H l
Ravneet turns 135° anticlockwise. Which . :

o e 135° o epcdmo BP@. WOND
direction Ravneet is facing now? .

SHVE D QL DT e co?

1.1 1.1
1. North-East L &0 § ? v § %
2. North-West 9. &5°o:5&)6350 4. 4 4 4
3. KFast 3 gy o
4, South-East 4 e ﬁ;o&)o
2 7 ' 23
13-22-MAT-ENG-TEL 13-22-MAT-ENG-TEL
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63,

64,

I 63578 isto 1415,
56732 is to 185,

and 34124 is to 86,

then 72648 isto ?

1. 1218
2. 1415
3. 1512
4. 1514

Two friends Mr. A and Mr. B stand 64.

according to figure 1. The two friends then
interchange  their positions as given in
figure 2. ‘

63.

63578 : 1415,
56732 :185,
06t 34124 : 86,

wod 72648 :?
1. 1215
2. 1415
3. 1512
4. 1514

A, B od agd Dgoew Ogo 1 &
RSTATRE TN QeI . 8 FED P
6 0 S DPo 2 & wrdoddew
B EOLPD

110 em v Wall 130 cm A v Wall
_ _

_____ //%A /%B
Figure-1 Figure-2

The height of the wall from the ground
is

1. 15em
2. 120 cm
3. 1275cm
4. 130 cm

13-22-MAT-ENG-TEL

B0 00d) Fes dvd

1. 115 %0.20.
2. 120 20.20.
3. 1275 0.5,
4. 130 20.20.

65. In a certain coding scheme, consonants and 65, 58 Joddg DEZoS Srguen, i e

66.

13-22-MAT-ENG-TEL

vowels are coded differently as illustrated
below:

C is coded as 6.

Z is coded as 52.

B is coded as 9.

O is coded as 29.

Then find the sum of numerals in the coded

version of FAITH.

1. 84
2. 85
3. 86
4. 87

In a class 20% of students are below 14 66.

years of age. Out of the remaining students
10% are of the age 14-15 years and ratio of
students who are’ between 15-16 years of
age to student above 16 years of age is 3:2.
If the number of students who are above 16
years is 72, what is the total number of

students in the class?

200
250
300
400

B

25

B0 € DesoTr ATKdotdesron:

C 093& 6 T 2rdotier&od.

7, 998 52 e Rredocieatol.

E 938 9 e 2rdoderdol.

0 956 29 r Brdozedod.

eoxd FAITH 8 Sodd Do 2008y

 88) 0l
1. 84
2. 85
3. 86
4. 87

w8 S6AS° 20% Doeggoen 14 Doty
S50y Sl A1), HBD ngg)vés
10% Sy 115 woddype 0068
€0tTehd. 15-16 RobeNre BOLRIY HOGS
&é‘lméé 16 Dodeyore o3 DEVRY
:Jowmbde)avé qube;é 3:2. 16 {\)o:)eébme)
D wg dooo Loy 72 o e

S6r50e"D Duogo Dewjgow Dogy Joe?

1. 200
2. 250
3. 300
4. 400



67. Study the figure given below representing a 67. 806 Ogod’ ws Pozng JoBAEorr &
particular number in a coded manner, DeSore BIFoeIGoo.

@
10,
for example, the number 6825 coded by
the following symols-

GBLPLIGEEd 6825 &

RDIP0TILIC0E.

polateiond

Based on the above information find the
number coded for the following symbols.

P RIrETY) RO So®d Do
B0 o388 Loy SfFdod.

®
|
1. 63205 1. 63205
b 2. 11309 2. 11309
3. 11523 3. 11523
4. 65230 4. 65230

’ 26
13-22-MAT-ENG-TEL

69.

badminton. Fach of the five plays against
gvery other friend. The winner gets two
points for each game he or she wins and the
foser gets zero. Then which of the following
cannot represent the scores of five friends?

1. 4,4,4,4,4
2. 6,4,4,4,2
3. 8,82,20
4. 6,6,4,2,2

Study the given figure and answer the 69.

following question

68. Five friends decided to play a game of 68. eoonciorios Dogoen 9B 28,00 DS ASS

Qogood w’zgé,&oeir% estren Ol
DI OVOVHIN B, VY SOr DO
DaersH Bocw Aranoly SFocsre ¢ yond
08 B0 DRVOG. oS SobTOS
[OleWIAbighls]

Qg DIV

RSSO DE?

s

> ¥

oo O\ B

B

6,
800 AN D) HOIVD Sod HI) LD

>

4,4,4
,4, 4,4,
8,2,2
6,4,2

B

NS

I.
2.
3.
4' k K

amm@);ﬁ&o&.

Let x denote sum of numbers present in at
least 2 circles and y denote sum of numbers
present in exactly 3 circles.” Then
X—y=__ '

L1

1

2. 25
3. 36
4. 61

27

13-22-MAT-ENG-TEL
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800 2 Dygros’iHRy Ropgw dogrd)y X

Ardocsre y wdd pdydore 3 S’

o 208 205y [SERATS)
Xx-y=_

. 11

2. 25

3. 36

4. 61



70. Choose the correct mirror image of the

1.

following figure if the mirror is placed as
shown.

0. g6 Jprdd  BodDd a6y Do

GOYED) WP W00y e Gotwol
S0 Dol

Mirror- \ \ W

MY AN
2.

[}

Observe the figures given below:

71.

806 DO HOIDosod.

AD
]
T

Based on the above figures identify the
correct group of categorization?

1,3,6; 2,49, 5,78
1,2,3; 4,58; 6,7.9
1,6,8; 3,5,9; 24,7
1,3,6; 2,57, 4,89

Bl el

28
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MNATT
A

8 9
) &@Oérﬁ)?\)ﬁoa RO Qégdﬁ"‘b&
Dot Deedo?

1. 1,3,6; 2,49, 5,78
2. 1,2,3; 458, 67,9
3. 1,6,8; 3,59, 24,7
4. 1,36, 257, 489

72. Raju invited friend George for a dinner at

73.

13—-22~MAT~ENG——T EL

his house. When George asked for the
direction of Raju’s house, Raju gave him
the following instruction:

Proceed 140 metres south from your house
then walk 200 metres to cast. Then tumn to
north and walk 100 metres. After that,
walk 160 metres to west. ‘

What is the shortest distance between the
two houses and the direction to Raju’s

house from George’s house?

1. 40v2 metres and north-west

2. 402 metres and south-cast

3. 80 metres and south-east

4. 80 metres and north-west

In a code language if ‘APPEAL’ is coded
as ‘256572’ and ‘PLAY’ is coded as
‘7259 then in the same language
‘PEARL’ will be coded as (each number
code stands for unique alphabet)

25768
25387
67522
25679

B0 N e

29

72.

TR OO DVIFAED @D $d @B
Fardd et Domrd. T @odrdben
[ VTaT ] &6 W Ty & Do &
Sod R dery e

D B 20D 140 Doexh SEerdS 39,
VG od  BrdNDiy 200 Ded
A0V DD, WDy &P IS 36A
10020, HETD. €3 SOD DENG DiDE
160 oeach ¢s8.

Bolgeh o S0 8rbo Jod? @
@ot) Kood) T AL O OIS otarod?

1 A0V2 Bowg, sramisge

2. 40V2 Do, et asoo

3. 80 Qotagd, esy ao
4. 80 Dotagp, Sraswsgo

S odAserad® ‘APPEAL & 256572°

™o PLAY’ &0 ‘72597 2ordd,  wd
e PEARL & Jroddgorr 9 dcsorr -
BFDOWBBE. (& Desorr HA Doy 28

:.;é5s VETV) APDR0E).

25768
25387
67522
25679

B o -



Directions: (Questions 74- 76)

‘Five students Ujith, Mahi, Rizan, Sahir

and Amelia appeared for an examination

in English and Mathematics.

i) Sahir

Amelia in Mathematics but scored less in

English than Ujith and Mahi.

i) In Mathematics Rizan scored more
marks than Amelia but less than what
Mahi has scored.

iil) Amelia scored more than Rizan in

scored more marks than

English and Rizan scored more than

Mahi in English. .
iv) Ujith scored more than Mahi in
Mathematics but less than Rizan in

Ruesdiden: (o) e 74- 76)

&8, 0, 62D, FEEd B oD

D BoMHA Jeriden Rofiy, tiddo

DO BB,

) rdsod wdoovy <o 6 sy
Srdpen o, 0 Qoffins” a2,
203 Soth B AP LD TForreh.

i) oo oad  wlvery ol NEORS)
drden,  SHoirsot BEYD ATy en
SFoTes.

iii) @ofiid’ Bard g0l wdowrsy Je)D
AT en, B3 Zodd Oard LD
Qo) 0 SFot6d. )

iv) (3o’ end  irgol Ko

95, Which of

determined?

the following cannot be

1. Amelia scored more than Mahi in
English.

2. Mahi scored miore than Amelia in
Mathematics.

3 Sahir scored less than Mahi both in
Mathematics and English.

4. Ujith than Mahi in
English.

scored- less

75,

808 aroedes’ DGonoors TG D&?

1. @ofipes® edoery 000 ot dey D
e eo Todod.

2. oS’ sode wBowrggot] ey

SVHESY Forees.

tiedso, Wofity Bodod SR FrirE

203 S08) BE)H D)0 Forre.

4. wofioe” aad  irded SO
e e Torredd.

(o)

English. 20600 Forrey. @ofipes® oapS | /6. Which of the following is necessarily 76. Sobar&S Pedyedorr ROGHE 267
v) Sahir scored less than Mahi in ot e D000 Forscss, correct? :
Mathematics. o )
V) (3o A6 Hotr o B0 1. Rizan scored more than Sahir in 1. tdcoss 6wrd b Lobd NEVRS)
e e Forr . Mathematics. e 0 Forred.
2. Ujith scored more than Sahir both in 2. oo Wiy TolodS'dr  ard
5 & .
) : Mathematics and English. 3 3::«75 esﬁoéjaié\)gb m;azngojm
74, saat - in Mat atics 2 . o . . (igdedo PO €38 o €.
4. The least scorer in Mathematics and top 74, e3c30e5° eod ggg%;) md’bw' faoé&pess 3. Sahir scored more than Ujith in mmbw Forrtes - b
scorer in English are respectively 9EAE DI L0 ToBDE ES550re . © :
0" b ° Matbematics. 4. @ofin (15330 BododS v 62
4. Rizan scored more than Ujith both in 626 $o Dy 5 Boeyen SForycts.
AN . B . 5 ]
1. Sahir and Ujith 1 %6 200030 &2 English and Mathematics. B0 Forred.
2. Amelia and Amelia 2. Roor S08a%0 wHer
3. Ujith and Sahir ° o .
o Uit and Ut 3. &35 00 rd 77. The third day before 1% January 2019 was 77, 2958 1, 20198 Ryogo  Soresd o
. Ujith and Ujith : . . . .
4. RS DO s2d Saturday. Which day will the fourth day of - 3D wowod. BaNd, Hrdy 20208°
March 2020 be? '
1o 2020 be? 45 B O Sz 0dcood?
L Friday 1. 3ogorto
2. Saturday 2 ENsG0
3. Wednes
esday 3. eagardo
4. Thursday :
4, Hardo
30

31
13-22-MAT-ENG-TEL 13-22-MAT-ENG-TEL
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78. Observe the given figure below

9.

Based on the figure how many maximum
numbers of triangles can be formed with

the seven points A, B, C, D, E, F and G?

1. 21

2. 24

3. 33

4. 36

Find the correct mirror image for the
following problem figure from the
alternatives. '

1. A

2. B

3 C

4. D

13-22~-MAT-ENG-TEL

32

78.. 3od Dgrdy H03owsod.

xO

& Dgrdy waoneod A, B, C, D, E, F
00in G ©d  Dedode  wmdore
Sosrdiy Gaere wdids Dogy dow?

1. 21
2. 24
3,33
4. 36

- 800 DIEE DD ROGLD B0y

£8Dow0 $0b Prrpr) airee’ D6?

9985

B
o

80 A circular disc is cut into two parts. One of 80.

81.

the parts is given as the question figure.
Which is the other part? Select from the

optlons.

T
o O W

Two figures on transparent sheets are
given on the left side. When the upper
figure is exactly placed on the lower
figure, find from the option figures how
the resultant looks like.

L. A
2. B
i C
4. D

13-22-MAT-ENG-TEL

81.

w8 DyTrEed Dwgo G Bocd eFrrRLT®
880ovcon. GRS’ wd ertio YT TGS
D)o ADGWGoR. Botd ario D6?
DT7) 07y 3R B00E) oS ool

Eaiea il el
TUaw»

POESHEOTT &) DYV &Y Totd
DEPVR CEIPIDD fzmgc;o 2600d. D
HEPDY 0OTP Sob B0 QoS5 GBI
derol HOBo Lenroeioots DOySoTRIT

BN DT Boow) (HBots0d.

990 ¢

B =
(@]



82. Find the missing part of the given figure
from the alternatives which completes the
pattern. )

806 Do ST eTrdy  Wrd

DS eegoe) 05re ol DGt

W DN —
o QW

4,

83. Find the correct water image for the - 83,

following problem figure choosing from
the alternatives.

Water TR

vevy

Bl b
oW

Directions: (Questions 84—88)

In the following question, there are
statements  followed by . conclusions.
Choose' the conclusion(s) which must

logically follow from the given statements.

34
13-22-MAT-ENG-TEL

1. A
2. B
3. ¢
4. D
8o D05 8 D0 Hees®

DBVDEDVE D D Dy ce800E
QAN QT 507 A B008) (D800G

B
o Qo

Qecdden : (P e 84-88)

00> S EDY SR, T BRIBD
£y doofoipen Ao 20000, @&‘)«é
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84, Statcniems:

A.  Some grandmothers are mothers.
B. Some mothers are daughters.
C.  All the daughters are married women.

Conclusions:

1. Some married women are mothers.
1. Some daughters are grandmothers.
TiI. No daughter is grandmother.

IV. Some mothers are grandmothers.

1. OnlylandIl
2. Only Il and III
3. Only Hand IV
4. Onlyland IV

85. Statements:
A. Some students are smart-working.
B. All Intellligent are smart-working.

C. All the teachers are students.

Conclusions:

L Some students are Intelligent.
. No teacher is smart-working.

HL Some intelligent are students.

1. EitherlorIl

2. Ounlyland I1

3. Noneofl, II and I
4. Onlyland 111
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84,

85.

DFargen:

A, ot ey en deoen.
B. Focsdh denen drdos.

C. 06ty &rdoghe Darirdye.

Snhosyyen:

I Eod Z)a“ﬁavej?\gw o0,
1L ot Ereiogh 9350}, B0 0.
1L & graodr @93503 30}, B8,
V. Eocsth denen esoysopen.

1. Tooctw 1 doegdo

2. 11 Sobasn I g

3. I o6os [V Sorggsd

4, 1obasn IV drgin

Sfargen:

A. Eotsth &)crlggow OO
DIV,

B. 06 BODJ IAVob Vg
BT,

C. o8 GarEryosvar Derggoen.

SnfolHnen:

L Eorts Jurjden 8O0,

LD &remgosncs suten® DBV
5o,

IIL. Eocsto BHDDC> Durjdoen.

1 & 11 ‘

T 200050 I drggd

L1, NI ee® DS seew.

I 06050 [T &g

W o =



86. Statements: 86.

A. Some students are orators.
B. All orators are goalkeepers.

C. Some goalkeepers are honest.
Conclusions:

[.Some students are honest.

II. Some goalkeepers are students.

1. Only conclusion |

2. Only conclusion II
3. Both conclusion [ and 11
4. Neither ¢conclusion I nor If
87. Statements: 87.

A.. Some men are women.
B. - All women are teachers.

C. Some teachers are doctors.

Conclusion:

I.  Some doctors are women.
. Some teachers are women.
II1. Some teachers are men.

1V. Some doctors are men.

1. OnlylandIl

2. Onlyland IV
3. Only Hand II
4, Only l'and IV
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DFargen

A, Botsth dergdoen SHgen.

B. ot dger Foding.

C. Socsthr BSEDD Derondiddoen.

snhoinen:

L Socsdh darggoen Qazrondn.
I Eocsch HSSHH dawgdoen.

1. 1238 d0ofosy.

2. I srgso Swfosd

3. 1200050 1 Bothr S0fodnen
4. 1 Sor 1 Botsr H0M0) °¢0.
DYegen

A, Sotssy insaspen Hew.
B. 200560 e edrgrjosoen.
C. Botsth &rpmyosanen DEogen.

Sfod:

1. Sooseod écﬁ)zgw e,

1. Socs0) eergosnen Hev.

IIL oot eargrgosonen DD,
IV. So65e DEiogn 6D,

1. 1 sve0soll &g

2. Toobamo IV doredo
3. I avBoso [T g
4. T 208050 IV Sredd

88, Statements: 88,

AA. Some candidates are students.
B. All children are citizens.
. All citizens are candidates.

Conclusions:

1. Some citizens are students.
1I. Some candidates are children.
111, All children are candidates.
IV. No child is stadent.

faegen

A, Eotsch esajﬁégow 3@5%)&».
B. e90¢3th dee grdren.

C. oty drdoer e

sofoinen:
1. ot coen Jreggoen.
. Socsch> ?9?;5583&)3 20,

1L e90¢56> deur eaajézggse».

V. 9 bg&w Dargosees.

1. OnlylandIf 1 LI Sorgdo
2. Only Il and III 2. T, I sdorggs
3. Only Il and IV 3 ML IV Seso
4. Oniy ], Il and III 4 LI I B
89, Study the figure given below: 89. &ogs @,Z)Dé ;;e;;o:()l $5898ocs0d.
D -
B
| 4 () [
2 B
]
A B C D E

Find which figure is to be removed,

starting from A, so that all fit into a

pattern.

S
mgOw
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W) DEFAr DES PS°Co w8 drrS”
BocitrdS A A0od D0Gend D HErdY
Fofowrs tHocsod.

1. B
2. C
3. D
4. E.



90. What is the minimum number of un-

91.

shaded boxes to be crossed for covering
the shortest path from ‘A’ to ‘B’ (both
exclusive) without retracing the path and

without diagonal movements?

90.

‘A’ oD B'S (BoBD H69) oD
Dyreot b;bézjifsoom,
Sevomr D0 BN Hvwmo DEIOA

»d BHOEroe Dyrwot fiw 0 R0y

Qoed?

8

Observe the ﬁgures given below:

The odd one out from the given figure
is.

cows|

1
2.
3.
4

38
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BN Deree’ DY DO .

bl
T O >

92. A
Qe

along the FEast-West

flows

river
direction. On a particular day in the
morning Kisku was seen at a place ‘A’
located on the northern side of the river
and on the same evening he was seen at a
place ‘B’ located on the southern side of
the river.

Following are the comments made by four
friends — Paulomi, Mimee, Sabeena and
Grayson.

1. Pantomi said, Kisku must have crossed

the river only once.

II. Sabeena said, Kisku might have

five times.

V. Grayson said, he might have crossed
it any number of times.

Choose the correct alternative from the

following:

1. Only lis correct
Only I is correct

Lor 11 is correct

NGV N

Land T} are correct

92.

28 56 AP DEDOLD PHIROS.
w8 D03 B w8 Goard S 268
d 0&ReS
EDotr). @8 Jraogo WO OOS

SPOO%S’  aoy A’

Gimo PIDO @Dy BT wd d%es
EDoTIED.

DS, o, DDFF, BOR wd Jewrd

Qoggoen Bod TPV WFD.

L 820 06D Ed0o 2830 g o
&0 Bord 0 TG wod. v

IL 8y erue SO0 TeddIrg wd
65065080y D VO 0.

L. 1. 8 e

2.9 2 9 crossed the river four times. » 1L et DD DEFC> B0 ©d
3. 10 3. 10 [1I. Mimee said, he might have crossed it .

4. 11 4. 11 - 200 90,

IV. I8y g e trdd o8 eociddy
0 GO IR .
Sod

Do) oy DED

?o&.‘))"(;“m"@'l Ao P3o%0dk.

1.1 drgdo P86
I Srgs DTG

| go 11T 556
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1 s08050 1 Soctr DB
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Directions: (Questions 93-94)

In a town of 1000 people, 570 read Hindi
newspaper, 424 read English newspaper
and 254 read Punjabi newspaper. 40 read
only Hindi and Punjabi newspaper; 58
read only Hindi and English newspaper;
and 70 read only Punjabi and English

newspaper. 100 read no newspaper.

93 How . many
newspaper?

people read only one 93.

570
642
914
968

-bbdl\)‘b‘

94. How many people read all the three 94,
newspapers?

40
58
70
90

DO

B

95. Complete the given letter analogy 95,
LTFQIW : YGSIVD : : DOIYKV : ?

1. QBVIXL
2. WLRBCI
3. QLVBXE
4. QBVLXJ

40
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Horasden: (¥) oo 93-94)

1000 So08 Hedd) w8 Himos” 570
B000 ol TEHAEN SEDHTD. 424
2000 @AY TGRSR, 254 Dowrd
TPOGEN SEEDTD. 40 008 rod
200050 Dozrd) TS ArgH
SCODTD. 58 S00bd  rod  Sudosm
Fofa) TOPDHER HEGI) BERDTE.
70 H00d  Dowrd  Lwdatvy  @ofd
TTHSE DGR ScudEed. | 100

006 D TGEOQEL 9D,

Q0000 PR W) TP wg;’w'

SEDTW?
1. 570

2. 642

3. 914

4. 968
Vo0l AR TYHGEO

DD ?
1. 40

2. 58

3. 70

4. 90

BN VLS Fr8yg0y Wrdocsod.
LTFQIW : YGSIVD : : DOIYKV : 7

1. QBVIXL
2. WLRBCI
3. QLVBXE
4. QBVLXJ

96. The given pie-diagram shows the streams  96. D006 nHocis .gvcméﬁ &’)Wg?}aw

opted by students "at senior-secondary
level.

Commerce

D) VY OV Wrdod P Do Soc
G0,

and Management
(g6 STBok BS80S )

Computer
Science
(goSotared §55)

Basic :
Sciences
GRER)

If sum of the angles for the students who
opted different streams is 144° then the
streams are ? )

1. “Arts; Applied Sciences.
2. Basic Sciences, Computer Science.
3.."Basic 'Sciences, Commerce and
Management.
4. Applied Science, Computer Science,
" Commerce and Management.

97. Four relations have been given as
alternatives (p), (q), (r), (s), out of which
only one becomes acceptable if the signs,
+ and + and the numbers, 4 and 5 are

mutually interchanged. Identify that
relation.
(p) 24+8x4=20+5
(@) 20+4x16+5=75
() 3x24+5=16+4
(8) 20+5-6=3%x30+4
L
2 (9
3. (v
4. (s)
41
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97.

Arts
(e38e5:5)

Applied
Sciences
(50 SRS )

DG DT QY ) dergeod

D063 Do Feoo 144° e wond e

derrren IHD?

1. UQD’ @E& P

. 838 5_)25550, 50'3,2}"289.35-::\3«53

3. 808 2/, by oo D
2008

4. 0RE DRy, SoRgs-20y, sy
3506050 BoDED00ES.

+ Sododw +, Jc\)O%;gE)J; 4 8ok 5 ?oo&)gw

0BTy 6y Bosaciodyy $8T 0 LORE

8  wrdell e geegde)ob

Boeyotren (p), (q), (1), (s) en BV,

ROGX %0830 RIrQodd

oy 03Dy i) Eod.

(p) 24+8x4=20+5

(@ 20+4x16+5=75

(t) 3x24+5=16+4
(s) 20+5-6=3x30+4

L
2. (@,
3.
4. (s)



98. There are 20 steps to go to the first floor of 98,

99.

a building from the ground floor.

A child starts climbing up from the first
step of the ground level. Mother starts
coming down from the fourth step from
the floor level of the first floor.

If both have started at the same time with
same speed, at which step would they meet
counting from the first step from the floor
level of the first floor?

28 PD00S® 06 wodky &0 ANGS
OB BAODHBoH 20 Dugo IO
W D0 S0 eosiumed) DK
BOBRH D o FSeDipod. o 89
DD odkd Heer Fod® mrenris
DE Do) Brito ANETDBG. AGET
08 Driod 2.8 oS Ducen PGS
QUG WoBRD  DwErd DO WD

o) T B TOEE D Doep
HeDROEIETE?
1.9 1. 9
2. 10 2. 10
3. 11 3.1
4. 12 4. 12
The following question consists of four 99. Qo0& @%’Qeﬁe SRV A, By G Ded
problem figures marked as A, B, C and D, T o v £
Select a figure in place of *?” for E which . 59 wam%w‘
will continue the series established by the Dere - A, B, C, D 556*""5;"","301
four problem figures, A, B, C, D. EorAocmdd. B - AaSt. 4 ‘g%’éoé&
S0t AHVRD DErY b Sodods.
+ - - X ks + - ‘
9 |
- e X + + - - X J
A B C D E
1. 2.
— X a
X + - ~ +
3, 4. e -
X - -
| ><‘ -
42
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+ Which ;,):ibtl?e relation among men, dqct()lfs

s in a hospital?

represe
and patient

owing venn diagrams 100,

S0 DY) Bardgrues’ e, Desogen
e R0806rRY VoI DA?
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